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�D>7D4<<4 c>cF46?5=4 =4 >c=>65 $��% B� ?> =4?D46?5=<N 11.03.01 

«$44<>F5E=<>4» ?> 4<cF<??<=4<, O6?ONM<<cO 547>6O<< 4?O >5GG5=<O 6 

<47<cFD4FGD5 ?> =4?D46?5=<N 11.04.01 «$44<>F5E=<>4». 

 

I. �5D5G5=L M?5<5=F>6 E>45D64=<O, 

?D>65DO5<OE =4 6EFG?<F5?L=>< <E?OF4=<< 

 

$4745? 1. «�E=>6O F5>D<< F5?5=» 

1. $<7<G5c><5 >c=>6O F5>D<< F5?5=: F>>, ?>F5=F<4?, =4?DO65=<5, M?5>FD>- 

46<6GM4O c<?4 (-�%), <7=>65==4O <>M=>cFL, M=5D7<O. 'c?>6=> ?>?>6<F5?L=O5 

=4?D46?5=<O F>>4 < =4?DO65=<O. �>cF>O==O= < ?5D5<5==O= F>>, =4?DO65=<5, -�%. 

%6O7L <7=>65==>= <>M=>cF< < M=5D7<< c F>>>< < =4?DO65=<5< 6 F5?<. %D54=OO 

<>M=>cFL 6 F5?<. �>=OF<5 > cE5<4E M?5>FD<G5c><E F5?5=; 6<4O cE5<. %E5<4 

74<5M5=<O M?5>FD<G5c>>= F5?<. �um5D4mGD4: [1, c. 9-15]. 

2. �454?<7<D>64==O5 ?4cc<6=O5 M?5<5=FO F5?5= < <E ?<=5==O5 cE5<O 74- 

<5M5=<O. %>?D>F<6?5=<5, ë<>>cFL, <=4G>F<6=>cFL. �c=>6=O5 D<7<G5c><5 74>>=>- 

<5D=>cF<, ?>?>65==O5 6 >c=>6G <>45?5= <454?<7<D>64==OE M?5<5=F>6: 74>>= �<4, 

74>>= M?5>FD><47=<F=>= <=4G>F<< $4D445O, F5>D5<4 �4Gcc4. �><?>=5=F=O5 

GD46=5=<O >4> 746<c<<>cF< <564G F>>>< < =4?DO65=<5<; <7=>65==4O <>M=>cFL < 

M=5D7<O, 74?4c45<4O (D4cE>4G5<4O) M?5<5=F4<<. �um5D4mGD4: [1, c. 16-26]. 

3. �454?<7<D>64==O5 4>F<6=O5 M?5<5=FO F5?5=. �454?L=O= <cF>G=<> F>>4 < 

=4?DO65=<O; Gc?>6=O5 7D4D<G5c><5 >5>7=4G5=<O, 6>?LF4<?5D=O5 E4D4>F5D<cF<- >< 

(B�X), 6=GFD5==55 c>?D>F<6?5=<5. �<=5==O5 cE5<O 74<5M5=<O D54?L=OE <c- 

F>G=<>>6 < <E B�X. ->6<64?5=F=O5 <cF>G=<> F>>4 < <cF>G=<> =4?DO65=<O. �574- 

6<c<<O5 (=5G?D46?O5<O5) < 746<c<<O5 (G?D46?O5<O5) <cF>G=<><. �<=5==O5 cE5- 

<O 74<5M5=<O 746<c<<OE <cF>G=<>>6. �um5D4mGD4: [1, c. 28-35]. 

4. �c=>6=O5 ?>=OF<O F>?>?>7<< F5?5=: 65F6L, G75?, >>=FGD. �>c?54>64F5?L- 

=>5, ?4D4??5?L=>5 < c<5L4==>5 c>54<=5=<5 46GE?>?Nc=<>>6. �4>>=O �<DE7>D4 

(F>?>?>7<G5c><5 GD46=5=<O). %<cF5<4 GD46=5=<= M?5>FD<G5c>>7> D46=>65c<O F5?< 

< 5ë c6545=<5 > 4<DD5D5=F<4?L=><G GD46=5=<N F5?<. �>c?54>64F5?L=>5 < ?4D4?- 

?5?L=>5 c>54<=5=<O ?<=5==OE c>?D>F<6?5=<=. ->6<64?5=F=>5 c>?D>F<6?5=<5 

(?D>6>4<<>cFL) c>54<=5=<O. -?5<5=F4D=O5 45?<F5?< =4?DO65=<O < F>>4. �um5- 

D4mGD4: [1, c. 36-45, 55-58]. 

5. �?4cc<D<>4F<O F5?5= ?> F<?4< <4F5<4F<G5c><E <>45?5=, >?<cO64NM<E 

<E M?5<5=FO: ?<=5==O5, =5?<=5==O5 < ?4D4<5FD<G5c><5 F5?<; F5?< c c>cD54>F>- 

G5==O<< < D4c?D545?ë==O<< ?4D4<5FD4<<. B<4O =5?<=5==OE M?5<5=F>6 < <E E4- 

D4>F5D<cF<><. �5G?D46?O5<O5 < G?D46?O5<O5 =5?<=5==O5 c>?D>F<6?5=<O < <E 

B�X. %F4F<G5c><5 < 4<DD5D5=F<4?L=O5 ?4D4<5FDO =5?<=5==OE M?5<5=F>6. $4c- 

GëF F5?5= ?>cF>O==>7> F>>4 c ?>c?54>64F5?L=O< < ?4D4??5?L=O< c>54<=5=<O<< 

c>?D>F<6?5=<= <5F>4>< M>6<64?5=F=>= B�X. �>=OF<5 > <5F>45 =47DG7>G=>= ?DO- 

<>=. �um5D4mGD4: [1, c. 59-64, 276-287]. 
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6. �4D<>=<G5c>>5 >>?554=<5 < 57> ?4D4<5FDO: 4<??<FG44, ?5D<>4, F5>GM4O < 

=4G4?L=4O D47O, F<>?<G5c>4O < G7?>64O G4cF>F4, 45=cF6GNM55 7=4G5=<5. B5>F>D- 

=>5 ?D54cF46?5=<5 74D<>=<G5c>>7> >>?554=<O. %46<7 D47 <564G >>?554=<O<<. 

�4D<>=<G5c><5 >>?554=<O 6 c>?D>F<6?5=<< (R), ë<>>cF< (C), <=4G>F<6=>cF< (L). 

�4>>= �<4 4?O 4<??<FG4 >>?554=<=. �>=OF<5 D54>F<6=>7> c>?D>F<6?5=<O, ?D>6>- 

4<<>cF< ë<>>cF< < <=4G>F<6=>cF<. %46<7 D47 <564G =4?DO65=<5< < F>>>< 6 R, L 

< %. �7=>65==4O <>M=>cFL < M=5D7<O 6 R, L, %. BD5<5==O5 < 65>F>D=O5 4<47D4<- 

<O F>>>6 < =4?DO65=<= 6 R, L, %. �<F5D4FGD4: [1, c. 65-70, 87-94], [2, c. 28-39]. 

7. �4D<>=<G5c><5 >>?554=<O 6 ?>c?54>64F5?L=>< c>54<=5=<< R, L, %. $4cGëF 

c>54<=5=<O =4 >c=>65 65>F>D=>= 4<47D4<<O. &D5G7>?L=<>< =4?DO65=<= < c>?D>- 

F<6?5=<=. �>?=>5 c>?D>F<6?5=<5 F5?<. %46<7 D47 <564G =4?DO65=<5< < F>>><. 

X4D4>F5D c>?D>F<6?5=<O F5?<. �4D<>=<G5c><5 >>?554=<O 6 ?4D4??5?L=>< c>54<- 

=5=<< R, L, %. $4cGëF c>54<=5=<O =4 >c=>65 65>F>D=>= 4<47D4<<O. &D5G7>?L=<>< 

F>>>6 < ?D>6>4<<>cF5=. �>?=4O ?D>6>4<<>cFL F5?<. %46<7 D47 <564G =4?DO65=<- 

5< < F>>>< 6 ?4D4??5?L=>< c>54<=5=<<. �<F5D4FGD4: [2, c. 39-43]. 

8. �D54cF46?5=<5 74D<>=<G5c>>7> >>?554=<O 6 >><??5>c=>= ??>c>>cF<. 

�><??5>c=4O 4<??<FG44 >>?554=<O. %>>F=>L5=<5 >><??5>c=OE 4<??<FG4 F>>>6 < 

=4?DO65=<= 6 c>?D>F<6?5=<<, ë<>>cF< < <=4G>F<6=>cF<. �><??5>c=>5 c>?D>F<6- 

?5=<5 (?D>6>4<<>cFL) M?5<5=F4. �4>>= �<4 < 74>>=O �<DE7>D4 6 >><??5>c=>= 

D>D<5. �><??5>c=>5 c>?D>F<6?5=<5 (?D>6>4<<>cFL) ?>c?54>64F5?L=>7> < ?4D4?- 

?5?L=>7> c>54<=5=<O M?5<5=F>6. X4D4>F5D c>?D>F<6?5=<O F5?<. �?7>D<F< D4cG5F4 

?<=5==OE F5?5= ?D< 74D<>=<G5c>>< 6>745=cF6<< <5F>4>< >><??5>c=OE 4<??<FG4. 

�<F5D4FGD4: [1, c. 76-79, 82-95]. 

9. -=5D75F<G5c><5 c>>F=>L5=<O 6 ?<=5==OE F5?OE ?D< 74D<>=<G5c>>< 6>7- 

45=cF6<<. �7=>65==4O, cD54=OO 74 ?5D<>4 (4>F<6=4O), D54>F<6=4O, ?>?=4O < >><- 

??5>c=4O <>M=>cF<. �>MDD<F<5=F <>M=>cF<. �4?4=c <>M=>cF5= 6 F5?<. 'c?>6<O 

c>7?4c>64=<O <cF>G=<>4 M?5>FD<G5c>>= M=5D7<< c =47DG7>>= ?> >D<F5D<N <4>c<- 

<G<4 ?5D544645<>= 6 =47DG7>G cD54=5= <>M=>cF<. �<F5D4FGD4: [1, c. 108-117]. 

10. �=4G>F<6=>-c6O74==O5 F5?< ?D< 74D<>=<G5c>>< 6>745=cF6<<. B74<<=4O 

<=4G>F<O < 674<<=4O <=4G>F<6=>cFL. �><?>=5=F=O5 GD46=5=<O c6O74==OE <=4G>- 

F<6=>cF5=. %>7?4c=>5 < 6cFD5G=>5 6>?NG5=<O. �D<<5=5=<5 <5F>44 >><??5>c=OE 

4<??<FG4 4?O 4=4?<74 <=4G>F<6=>-c6O74==OE F5?5=. %E5<4 74<5M5=<O c6O74==OE 

<=4G>F<6=>cF5=. �>c?54>64F5?L=>5 < ?4D4??5?L=>5 6>?NG5=<5 c6O74==OE <=4G>- 

F<6=>cF5=. &D4=cD>D<4F>D. %E5<4 74<5M5=<O ?<=5==>7> FD4=cD>D<4F>D4. �>MD- 

D<F<5=F FD4=cD>D<4F<<. �<F5D4FGD4: [1, c. 142-159]. 

11. �5F>4 D4cGëF4 c?>6=>= ?<=5==>= F5?< ?D< 74D<>=<G5c><E 6>745=cF6<- 

OE, >c=>64==O= =4 =5?>cD54cF65==>< <c?>?L7>64=<< 74>>=>6 �<DE7>D4. �5F>4 

>>=FGD=OE F>>>6. �>=FGD=O= F>>. %>5cF65==>5 < 674<<=>5 c>?D>F<6?5=<O >>=FG- 

D>6. �5F>4<>4 D>D<<D>64=<O c<cF5<O GD46=5=<= >F=>c<F5?L=> >>=FGD=OE F>>>6. 

�5F>4 G7?>6OE ?>F5=F<4?>6. �47<c=O= G75?, c>5cF65==4O < 674<<=4O ?D>6>4<- 

<>cFL G7?>6. �5F>4<>4 D>D<<D>64=<O c<cF5<O GD46=5=<= >F=>c<F5?L=> G7?>6OE 

?>F5=F<4?>6. �<F5D4FGD4: [1, c. 225-239]. 
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12. �E=>6=O5 F5>D5<O F5>D<< F5?5= < <E ?D4>F<G5E>>5 ?D<<5=5=<5. �D<=- 

F<? =4?>65=<O. &5>D5<4 674<<=>EF< (>5D4F<<>EF<). &5>D5<4 > >><?5=E4F<<. 

�D<=F<? 4G4?L=>EF<. �5F>4 D4EGëF4 E?>6=>= F5?< =4 >E=>65 ?D<=F<?4 =4?>65- 

=<O. $4EGëF E?>6=OE M?5>FD<G5E><E F5?5= ?D< 74D<>=<G5E><E 6>745=EF6<OE =4 

>E=>65 F5>D5<O >5 M>6<64?5=F=>< <EF>G=<>5 =4?DO65=<O (F5>D5<O &565=<=4). 

�um5D4mGD4: [1, E. 249-263]. 

13. �>=OF<5 > >><??5>E=>= G4EF>F=>= E4D4>F5D<EF<>5 (�'%) ?<=5==>= F5?<. 

B<4O �'% 46GE?>?NE=<>>6 < G5FOD5E?>?NE=<>>6. �'% M?5<5=F4D=OE 46GE?>- 

?NE=<>>6 (ë<>>EF<, <=4G>F<6=>EF<), ?>E?54>64F5?L=>7> < ?4D4??5?L=>7> RC- < 

RL-E>54<=5=<=. �>4>7D4D �'%. �<??<FG4=>-G4EF>F=4O (�'%) < D47>G4EF>F=4O 

($'%) E4D4>F5D<EF<>< ?<=5==>= F5?<; <E D<7<G5E><= E<OE?. �5F>4<>4 M>E?5D<- 

<5=F4?L=>7> <7<5D5=<O < 4?7>D<F< D4EGëF4 �'% < $'% ?<=5==>= F5?<. �>74D<D- 

<<G5E>4O �'% F5?<. �um5D4mGD4: [1, E. 161-167, 173-175]. 

14. �><??5>E=O= >>MDD<F<5=F ?5D544G< ?> =4?DO65=<N, �'% < $'% RC- 

F5?< E> ENë<>< 6OE>4=>7> =4?DO65=<O E E>?D>F<6?5=<O. �>=OF<5 D<?LFD4 65DE- 

=<E G4EF>F. '4EF>F4 ED574 (7D4=<G=4O G4EF>F4) �'% RC-F5?<. '4EF>F=O5 E4D4>F5- 

D<EF<>< RC-F5?< E> ENë<>< 6OE>4=>7> =4?DO65=<O E ë<>>EF<. �>=OF<5 D<?LFD4 

=<6=<E G4EF>F. �>?>E4 ?D>?GE>4=<O RC-F5?<. '4EF>F=O5 E4D4>F5D<EF<>< RL- 

F5?5= E >4=<< D54>F<6=O< M?5<5=F><. '4EF>FO ED574 �'% RL-F5?5=. �>=OF<5 ?>- 

?>E=>-?D>?GE>4NM57> D<?LFD4; ?>?>E4 ?D>?GE>4=<O D<?LFD4 ?> GD>6=N 0.707 <?< 

3 4�; >>MDD<F<5=F ?DO<>G7>?L=>EF<. �um5D4mGD4: [1, E. 168-173]. 

15. '4EF>F4 E>5EF65==OE >>?554=<= 6 <454?L=>< >>=FGD5. �>F5D< 6 >>=FGD5. 

BO=G645==O= D56<< D45>FO >>=FGD4. �?4EE<D<>4F<O >>=FGD>6 ?> E?>E>5G 6>?N- 

G5=<O <EF>G=<>4 M=5D7<<. �>=OF<5 < >D<F5D<< D57>=4=E4; GE?>6<O 57> ?D>O6?5=<O. 

$57>=4=E =4?DO65=<= 6 ?>E?54>64F5?L=>< >>=FGD5. $57>=4=E=4O G4EF>F4, E4D4>F5- 

D<EF<G5E>>5 < D57>=4=E=>5 E>?D>F<6?5=<O, 4>5D>F=>EFL. '4EF>F=O5 E4D4>F5D<- 

EF<>< >>=FGD4. -=5D75F<G5E><5 E>>F=>L5=<O 6 >>=FGD5 ?D< D57>=4=E5. B?<O=<5 

6=GFD5==57> E>?D>F<6?5=<O <EF>G=<>4 < E>?D>F<6?5=<O =47DG7>< =4 E4D4>F5D<- 

EF<>< >>=FGD4. �um5D4mGD4: [1, E. 175-187, 196-197]. 

16. �5>5M5==4O D4EEFD>=>4, GD46=5=<5 D57>=4=E=>= >D<6>= >>?554F5?L=>7> 

>>=FGD4. �>?>E4 ?D>?GE>4=<O < >>MDD<F<5=F ?DO<>G7>?L=>EF< �'% >>=FGD4. $5- 

7>=4=E F>>>6 6 ?4D4??5?L=>< >>=FGD5. BE>4=O5 < ?5D544F>G=O5 G4EF>F=O5 E4D4>- 

F5D<EF<>< ?4D4??5?L=>7> >>=FGD4. B?<O=<5 6=GFD5==57> E>?D>F<6?5=<O <EF>G=<>4 

< E>?D>F<6?5=<O =47DG7>< =4 D57>=4=E=O5 E6>=EF64 >>=FGD4. �>=FGDO E =5?>?=O< 

6>?NG5=<5<: >>MDD<F<5=F 6>?NG5=<O, D57>=4=E=>5 E>?D>F<6?5=<5. �um5D4mGD4: 

[1, E. 188-195, 198-210]. 

17. �D<D>44 ?5D5E>4=OE ?D>F5EE>6. �>=OF<5 >><<GF4F<<. �4>>=O >><<GF4- 

F<<. �46<E<<O5 < =5746<E<<O5 =4G4?L=O5 GE?>6<O. �>DO4>> ?<=5==>= F5?<. 

�?4EE<G5E><= <5F>4 4=4?<74 ?5D5E>4=OE ?D>F5EE>6 6 ?<=5==>= F5?<, 6O764==OE 

=574D<>=<G5E><< 6>745=EF6<5<: 4<DD5D5=F<4?L=>5 GD46=5=<5 F5?< < <5F>4<>4 

57> D5L5=<O; E6>5>4=4O < 6O=G645==4O E>EF46?ONM<5 ?5D5E>4=>7> ?D>F5EE4; E4- 

D4>F5D<EF<G5E>>5 GD46=5=<5 F5?<; >?D545?5=<5 ?>EF>O==OE <=F57D<D>64=<O. �u- 

m5D4mGD4: [1, E. 306-308, 313-316]. 
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18. %6>5>4=O5 ?D>F5EEO 6 RC-F5?< ?5D6>7> ?>DO4>4. �<DD5D5=F<4?L=>5 

GD46=5=<5. ->E?>=5=F<4?L=> 74FGE4NM<= E4D4>F5D ?D>F5EE>6. �>EF>O==4O 6D5- 

<5=< RC-F5?<. %6>5>4=O5 ?D>F5EEO 6 F5?< 6F>D>7> ?>DO4>4 3 >>?554F5?L=>< >>=- 

FGD5. �?5D<>4<G5E><=, >D<F<G5E><= < >>?554F5?L=O= E4D4>F5D ?D>F5>4=<O E6>- 

5>4=OE ?D>F5EE>6. �F5=>4 E4D4>F5D4 ?D>F5EE>6 ?> >>D=O< E4D4>F5D<EF<G5E>>7> 

GD46=5=<O. �>EF>O==4O 6D5<5=< >>=FGD4 < 5ë E6O7L E ?>?>E>= ?D>?GE>4=<O. �4D4- 

<5FDO, E4D4>F5D<7GNM<5 74FGE4=<5 >>?554F5?L=>7> E6>5>4=>7> ?D>F5EE4. �<F5- 

D4FGD4: [1, E. 317-328], [2, E. 206-212]. 

19. �DO<>5 < >5D4F=>5 ?D5>5D47>64=<O �4??4E4. �7>5D465=<5 >>?554=<O ?> 

�4??4EG < GE?>6<5 57> EGM5EF6>64=<O. �D<7<=4?. �E=>6=O5 E6>=EF64 <7>5D465- 

=<=. �7>5D465=<O F<?>6OE 6>745=EF6<=. &5>D5<4 D47?>65=<O 4?O >FOE>4=<O >D<- 

7<=4?4 ?> <7>5D465=<N. �7>5D465=<O =4?DO65=<= < F>>>6 < E>>F=>L5=<O <564G 

=<<< 6 R, L < C ?D< =G?56OE < =5=G?56OE =4G4?L=OE GE?>6<OE. �?5D4F>D=O5 EE5- 

<O 74<5M5=<O R, L < C. �4>>=O �<4, �<DE7>D4 6 >?5D4F>D=>= D>D<5. %E5<4 ?D<- 

<5=5=<O >?5D4F>D=>7> <5F>44 4?O >?D545?5=<O D54>F<< ?<=5==>= F5?< =4 =574D- 

<>=<G5E>>5 6>745=EF6<5. �<F5D4FGD4: [1, E. 331-341, 351-356], [2, E. 219-229]. 

20. BD5<5==O5 E4D4>F5D<EF<>< ?<=5==>= F5?<: ?5D5E>4=4O < <<?G?LE=4O. 

%6O7L <7>5D465=<= 6D5<5==OE E4D4>F5D<EF<> E >?5D4F>D=O< < >><??5>E=O< >>- 

MDD<F<5=F4<< ?5D544G< F5?<. %6O7L <<?G?LE=>= < ?5D5E>4=>= E4D4>F5D<EF<><. 

�D<<5=5=<5 <=F57D4?>6 =4?>65=<O < E6ëDF>< 4?O 4=4?<74 ?<=5==>= F5?< =4 ?D>- 

<76>?L=>5 6>745=EF6<5 (6D5<5==>= <5F>4 4=4?<74). �E>55==>EF< D54?<74F<< 6D5- 

<5==>7> <5F>44 ?D< >?<E4=<< 6E>4=>7> 6>745=EF6<O 46G<O < 5>?55 DG=>F<O<<. 

�<F5D4FGD4: [1, E. 357-368]. 

21. �>=OF<5 > =5<E>464NM5= F5?<. �'% < $'% =5<E>464NM5= F5?<. � D<- 

7<G5E>>= =5D54?<7G5<>EF< =5<E>464NM5= F5?<. 'E?>6<O D54?<7G5<>EF< =5<E>4- 

64NM5= F5?< 6 >7D4=<G5==>= ?>?>E5 G4EF>F. �<DD5D5=F<DGNM4O < <=F57D<DGN- 

M4O F5?<. �'% < $'% 4<DD5D5=F<DGNM5= < <=F57D<DGNM5= F5?<. 'E?>6<O D<- 

7<G5E>>= D54?<7G5<>EF<. 'E?>6<5 >4G5EF65==>7> 4<DD5D5=F<D>64=<O (<=F57D<D>- 

64=<O) >>?554=<= RC-F5?LN. �<F5D4FGD4: [1, E. 349-351], [2, E. 277-278]. 

22. '5FOD5E?>?NE=<>< < <E >?4EE<D<>4F<O. �<=5==O5 G5FOD5E?>?NE=<><. 

�E=>6=O5 GD46=5=<O < E<EF5<O ?5D6<G=OE ?4D4<5FD>6 ?<=5==OE G5FOD5E?>?NE- 

=<>>6. $<7<G5E><= E<OE?, <5F>4<>4 M>E?5D<<5=F4?L=>7> < 4=4?<F<G5E>>7> >?D5- 

45?5=<O ?5D6<G=OE ?4D4<5FD>6 G5FOD5E?>?NE=<>4. %6O7L <564G D47?<G=O<< 

E<EF5<4<< ?4D4<5FD>6 G5FOD5E?>?NE=<>4. �<F5D4FGD4: [1, E. 399-405]. 

23. %E5<O 74<5M5=<O ?4EE<6=OE < 4>F<6=OE (=5>5D4F<<OE) ?<=5==OE G5- 

FOD5E?>?NE=<>>6. %>54<=5=<O ?<=5==OE G5FOD5E?>?NE=<>>6: ?>E?54>64F5?L=>5, 

?4D4??5?L=>5, >4E>44=>5, ?>E?54>64F5?L=>-?4D4??5?L=>5, ?4D4??5?L=> - ?>E?54>- 

64F5?L=>5. $4EG5F ?5D6<G=OE ?4D4<5FD>6 E>EF46=OE G5FOD5E?>?NE=<>>6. �<F5- 

D4FGD4: [1, E. 408-418]. 

24. BF>D<G=O5 (E4D4>F5D<EF<G5E><5) ?4D4<5FDO G5FOD5E?>?NE=<>4. %4D4>- 

F5D<EF<G5E>>5 E>?D>F<6?5=<5. %>7?4E>64=<5 G5FOD5E?>?NE=<>4 ?> 6OE>4G. %4- 

D4>F5D<EF<G5E>4O ?>EF>O==4O (<5D4) ?5D544G<. %>5EF65==>5 >E?45?5=<5 (74FGE4- 

=<5) < >>MDD<F<5=F D47O (D47>64O ?>EF>O==4O). �<F5D4FGD4: [1, E. 419-429]. 
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25. �E=>6=O5 ?>=OF<O F5>D<< F5?5= E D4E?D545?5==O<< ?4D4<5FD4<<: ?>- 

7>==O5 ?4D4<5FDO, 4?<==4O ?<=<O. �<DD5D5=F<4?L=O5 (F5?57D4D=O5) GD46=5=<O 

>4=>D>4=>= 4?<==>= ?<=<<. �4G4?L=O5 < 7D4=<G=O5 GE?>6<O. $5L5=<5 4<DD5- 

D5=F<4?L=OE GD46=5=<= 4?<==>= ?<=<< ?D< 74D<>=<G5E>>< 6>745=EF6<<. �444N- 

M4O < >FD465==4O 6>?=O 6 ?<=<<. �<F5D4FGD4: [1, E. 59-61, 462-468]. 

26. �>MDD<F<5=F >FD465=<O 6 4?<==>= ?<=<<. �<=<O 557 >FD465=<O. 'D46- 

=5=<O ?<=<< 6 7<?5D5>?<G5E>>= D>D<5. BF>D<G=O5 ?4D4<5FDO 4?<==>= ?<=<<. 

B>?=>6>5 E>?D>F<6?5=<5. �>EF>O==4O D4E?D>EFD4=5=<O (74FGE4=<O), D47>64O E>>- 

D>EFL. �<=<O 557 <E>465=<= < 5ë 6F>D<G=O5 ?4D4<5FDO. �<=<O 557 ?>F5DL < 5ë 

6F>D<G=O5 ?4D4<5FDO. �<F5D4FGD4: [1, E. 466-472]. 

27. $4E?D545?5=<5 F>>4 < =4?DO65=<O ?> 4?<=5 ?<=<<. $56<< 557GM<E 6>?= 

6 4?<==>= ?<=<<. �<=<O, =47DG65==4O =4 E>?D>F<6?5=<5, D46=>5 6>?=>6><G. $5- 

6<< EF>OG<E 6>?= 6 ?<=<<. �>?>65=<5 G7?>6 < ?GG=>EF5= F>>4 < =4?DO65=<O ?D< 

>>D>F>>< 74<O>4=<< =4 6OE>45 < D47><>=GF>< 6OE>45 ?<=<<. $56<< E<5L4==OE 

6>?= 6 4?<==>= ?<=<<. �>MDD<F<5=F EF>OG5= 6>?=O. BE>4=>5 >><??5>E=>5 E>?D>- 

F<6?5=<5 >>D>F>>74<>=GFOE < D47><>=GFOE =4 >>=F5 >FD57>>6 4?<==>= ?<=<<. 

�<F5D4FGD4: [1, E. 473-479, 482-487]. 

 
$4745? 2. «$44<>F5E=<G5E><5 F5?< < E<7=4?O» 

1. �?4EE<D<>4F<O =574D<>=<G5E><E >>?554=<=. �5D<>4<G5E><5 >>?554=<O < 

<E ?D54EF46?5=<5 DO44<< $GDL5. �4D<>=<G5E>4O < >><??5>E=4O D>D<O DO44 $G- 

DL5. $4EGëF >>MDD<F<5=F>6 DO4>6 $GDL5 6 74D<>=<G5E>>= < >><??5>E=>= D>D<5. 

�><??5>E=O= < 74D<>=<G5E><= E?5>FDO 4<??<FG4 < D47 ?5D<>4<G5E><E >>?554- 

=<=. %6O7L <564G =<<<. �4D<>=<G5E><= E?5>FD ?5D<>4<G5E>>= ?>E?54>64F5?L=>- 

EF< ?DO<>G7>?L=OE <<?G?LE>6. �7<54NM4O E?5>FD4 4<??<FG4 < G4EF>FO 5ë =G?5=. 

�E>55==>EF< E?5>FD4 <54=4D4. �<F5D4FGD4: [3, E. 33-43]. 

2. $4E?D545?5=<5 <>M=>EF< 6 E?5>FD5 ?5D<>4<G5E>>7> >>?554=<O. �>=OF<5 

?D4>F<G5E>>= L<D<=O E?5>FD4 >>?554=<O < >D<F5D<< 5ë >F5=><. %6O7L ?D4>F<G5- 

E>>= L<D<=O E?5>FD4 >>?554=<O < 57> 4?<F5?L=>EF<. %<=F57 >>?554=<O ?> 57> 

E?5>FDG. B?<O=<5 =<7L<E < 6OEL<E 74D<>=<> =4 D>D<G E<=F57<DG5<>7> >>?554- 

=<O. %<=F57 <54=4D4. �<F5D4FGD4: [3, E. 45-46, 42-43]. 

3. �=F57D4?L=>5 ?D54EF46?5=<5 =5?5D<>4<G5E><E ?D>F5EE>6. �DO<>5 < >5- 

D4F=>5 ?D5>5D47>64=<O $GDL5. �><??5>E=4O E?5>FD4?L=4O ??>F=>EFL =5?5D<>4<- 

G5E>>7> ?D>F5EE4. %?5>FD4?L=4O ??>F=>EFL 4<??<FG4 =5?5D<>4<G5E>>7> ?D>F5EE4, 

5ë E6>=EF64. %6O7L <564G E?5>FD4<< >4<=>G=>7> <<?G?LE4 < 57> ?5D<>4<G5E>>= 

?>E?54>64F5?L=>EF<. %?5>FD4?L=4O ??>F=>EFL 4<??<FG4 >4<=>G=>7> ?DO<>G7>?L- 

=>7> <<?G?LE4. �E=>6=O5 F5>D5<O > E?5>FD4E. �<F5D4FGD4: [3, E. 46-55, 58-59]. 

4. -=5D75F<G5E><5 E4D4>F5D<EF<>< =5?5D<>4<G5E><E E<7=4?>6. �>DD5?OF<- 

>==4O < 674<<=>>>DD5?OF<>==4O DG=>F<< E<7=4?>6 < <E E6O7L E M=5D75F<G5E><<< < 

E?5>FD4?L=O<< E4D4>F5D<EF<>4<<. %6O7L ?D5>5D47>64=<= $GDL5 < �4??4E4 < 5ë 

?D<<5=5=<5. �E>55==>EF< E?5>FD>6 =5<=F57D<DG5<OE E<7=4?>6. %?5>FD4?L=O= 

(G4EF>F=O=) <5F>4 4=4?<74 ?<=5==OE F5?5= ?D< =574D<>=<G5E><E 6>745=EF6<OE. 

�<F5D4FGD4: [3, E. 56-57, 79-87, 97-102]. 
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5. �D4>F<G5E>4O =5>5E>4<<>EFL <>4G?OF<< 6 D44<>F5E=<>5. �E=>6=O5 6<4O 

<>4G?OF<<. 'E?>6<5 G7>>?>?>E=>EF< <>4G?<D>64==OE E<7=4?>6. $44<>E<7=4?O E 

4<??<FG4=>= <>4G?OF<5=, <E E6>=EF64 < >E=>6=O5 ?4D4<5FDO. %?5>FD4?L=O= 4=4- 

?<7 4<??<FG4=>-<>4G?<D>64==OE >>?554=<= ?D< F>=4?L=>= <>4G?OF<< < <>4G?O- 

F<< ?D><76>?L=O< ?5D<>4<G5E><< (=5?5D<>4<G5E><<) E<7=4?><. ,<D<=4 E?5>FD4 

E<7=4?4 E 4<??<FG4=>= <>4G?OF<5=. �<F5D4FGD4: [3, E. 103-116]. 

6. %<7=4?O E G7?>6>= <>4G?OF<5=. �7=>65==4O G4EF>F4 < =4557 D47O >>?5- 

54=<O E G7?>6>= <>4G?OF<5=. '4EF>F=4O <>4G?OF<O. $47>64O <>4G?OF<O. %6O7L 

<564G G4EF>F=>= < D47>6>= <>4G?OF<O<<. �56<4F<O G4EF>FO < <=45>E <>4G?OF<<. 

%?5>FD E<7=4?4 E G7?>6>= F>=4?L=>= <>4G?OF<5=. �D4>F<G5E>4O L<D<=4 E?5>FD4 

E<7=4?4 E G7?>6>= <>4G?OF<5=. �<F5D4FGD4: [3, E. 117-127]. 

7. �>=OF<5 <454?L=>7> GE<?<F5?O. �454?L=O5 D<?LFD =<6=<E G4EF>F < ?>- 

?>E=>-?D>?GE>4NM<= D<?LFD, <E G4EF>F=O5 < 6D5<5==O5 E4D4>F5D<EF<><. 'E?>- 

6<O ?<=5==>7> D56<<4 D45>FO 4>F<6=>7> M?5<5=F4. %E5<4 74<5M5=<O ?<=5==>7> 

4>F<6=>7> M?5<5=F4 ?> ?5D5<5==>= E>EF46?ONM5= < 5ë ?4D4<5FDO. �<=5==>5 4?5- 

D<>4<G5E>>5 GE<?5=<5 >>?554=<=. %E5<4 74<5M5=<O, >E=>6=O5 ?>>474F5?< < E4- 

D4>F5D<EF<>< GE<?<F5?O. 'E?>6<5 GE<?5=<O E 4>?GEF<<O<< <E>465=<O<<. �<F5- 

D4FGD4: [3, E. 202-218, 252-256]. 

8. %E5<4 74<5M5=<O, >>MDD<F<5=F GE<?5=<O, G4EF>F=O5 E4D4>F5D<EF<><, ?>- 

?>E4 ?D>?GE>4=<O ?<=5==>7> D57>=4=E=>7> GE<?<F5?O. 'E<?5=<5 4<??<FG4=>- 

<>4G?<D>64==>7> E<7=4?4. �=4?<7 ?D>E>645=<O 4<??<FG4=>-<>4G?<D>64==>7> 

E<7=4?4 G5D57 GE<?<F5?L E?5>FD4?L=O< <5F>4><. �<=5==O5 <E>465=<O < GE?>6<5 

<E <<=<<<74F<<. �<F5D4FGD4: [3, E. 222-224, 272-276]. 

9. �<=5==>5 D57>=4=E=>5 GE<?5=<5 >>?554=<= E G7?>6>= <>4G?OF<5=. �=4?<7 

?D>E>645=<O F>=4?L=> <>4G?<D>64==>7> E<7=4?4 E G7?>6>= <>4G?OF<5= G5D57 

GE<?<F5?L <5F>4>< <7=>65==>= G4EF>FO. �4D47<F=4O 4<??<FG4=4O <>4G?OF<O < 5ë 

?D4>F<G5E>>5 <E?>?L7>64=<5. �<=5==O5 <E>465=<O E<7=4?4 < GE?>6<O <E <<=<<<- 

74F<<. �<F5D4FGD4: [3, E. 282-287]. 

10. B>745=EF6<5 74D<>=<G5E>>7> >>?554=<O =4 =5?<=5==>5 E>?D>F<6?5=<5 < 

57> ?D4>F<G5E>>5 <E?>?L7>64=<5. $56<< <4?>7> E<7=4?4. �5F>4<>4 >?<E4=<O ?>- 

?<=><>< 6>?LF4<?5D=>= E4D4>F5D<EF<>< =5?<=5==>7> E>?D>F<6?5=<O. $4EGëF 

E?5>FD4?L=>7> E>EF464 F>>4 =5?<=5==>7> E>?D>F<6?5=<O 6 D56<<5 <4?>7> E<7=4?4 

?> >>MDD<F<5=F4< ?>?<=><4. �5?<=5==O5 <E>465=<O 6 4?5D<>4<G5E>>< GE<?<F5- 

?5. �<F5D4FGD4: [3, E. 312-316, 318-320]. 

11. B>745=EF6<5 74D<>=<G5E>>7> >>?554=<O =4 =5?<=5==>5 E>?D>F<6?5=<5 6 

D56<<5 5>?LL>7> E<7=4?4. �5F>4<>4 >?<E4=<O 6>?LF4<?5D=>= E4D4>F5D<EF<>< 

=5?<=5==>7> E>?D>F<6?5=<O >GE>G=>-?<=5==>= DG=>F<5=. �FE5G>4 F>>4 < D56<<O 

G?D46?5=<O G7?>< >FE5G><. $4EGëF E?5>FD4 F>>4 =5?<=5==>7> E>?D>F<6?5=<O =4 

74D<>=<G5E>>5 6>745=EF6<5 6 D56<<5 5>?LL>7> E<7=4?4. �>MDD<F<5=FO �5D74. 

�?F<<4?L=O= G7>? >FE5G><. �<F5D4FGD4: [3, E. 317-318, 321-323]. 

12. �5?<=5==>5 D57>=4=E=>5 GE<?5=<5 74D<>=<G5E><E >>?554=<=. �54>=4?- 

DO6ë==O=, >D<F<G5E><= < ?5D5=4?DO6ë==O= D56<<O D45>FO GE<?<F5?O. �>?554- 

F5?L=4O E4D4>F5D<EF<>4 GE<?<F5?O. -=5D75F<G5E><5 E4D4>F5D<EF<>< =5?<=5==>7> 
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GE<?<F5?O. �46<E<<>EFL >>MDD<F<5=F4 ?>?57=>7> 45=EF6<O GE<?<F5?O < 57> >>MD- 

D<F<5=F4 GE<?5=<O >F G7?4 >FE5G>< F>>4. �<F5D4FGD4: [3, E. 326-330]. 

13. �5?<=5==>5 GE<?5=<5 4<??<FG4=>-<>4G?<D>64==OE >>?554=<= < E<7=4- 

?>6 E G7?>6>= <>4G?OF<5=. �<=<<<74F<O =5?<=5==OE <E>465=<= 6 GE<?<F5?5 D4- 

4<>E<7=4?>6. '<=>65=<5 G4EF>FO 6 =5?<=5==>< D57>=4=E=>< GE<?<F5?5. �<??<- 

FG4=>5 >7D4=<G5=<5. �<F5D4FGD4: [3, E. 330-336]. 

14. %GM=>EFL < 6<4O >5D4F=>= E6O7< 6 4>F<6=OE F5?OE. �><??5>E=4O G4E- 

F>F=4O E4D4>F5D<EF<>4 4>F<6=>= ?<=5==>= F5?<, >E64G5==>= >5D4F=>= E6O7LN. 

�>?>6<F5?L=4O < >FD<F4F5?L=4O >5D4F=4O E6O7L. B?<O=<5 >FD<F4F5?L=>= >5D4F=>= 

E6O7< =4 G4EF>F=GN E4D4>F5D<EF<>G < =5EF45<?L=>EFL >>MDD<F<5=F4 GE<?5=<O 4>- 

F<6=>= ?<=5==>= F5?<. �<F5D4FGD4: [3, E. 225-236]. 

15. �>=OF<5 GEF>=G<6>EF< 4>F<6=OE F5?5= E >5D4F=>= E6O7LN. �5M55 GE?>- 

6<5 GEF>=G<6>EF< ?<=5==>= F5?< E >5D4F=>= E6O7LN, =4>?44O645<>5 =4 >>D=< E4- 

D4>F5D<EF<G5E>>7> GD46=5=<O. �?755D4<G5E><= >D<F5D<= ($4GE4-�GD6<F4). �>EF4- 

F>G=>5 GE?>6<5 GEF>=G<6>EF< 4>F<6=OE F5?5= ?5D6>7> < 6F>D>7> ?>DO4>>6. '4E- 

F>F=O5 >D<F5D<< �<E4=?>64 < �4=>6<EF4. �<F5D4FGD4: [3, E. 237-246]. 

16. �5M<5 GE?>6<O 6>75G645=<O 46F>>>?554=<= 6 E<EF5<4E E >5D4F=>= E6O- 

7LN: D47>6>5 < 4<??<FG4=>5. %FDG>FGD4 46F>75=5D4F>D4 < 5ë 6?<O=<5 =4 D>D<G 75- 

=5D<DG5<OE << 46F>>>?554=<=. 'E?>6<O E4<>6>75G645=<O LC-46F>75=5D4F>D4 E 

FD4=ED>D<4F>D=>= >5D4F=>= E6O7LN. %F4F<>=4D=O= D56<< D45>FO 46F>75=5D4F>- 

D4. �O7><= < 6ëEF><= D56<<O E4<>6>75G645=<O < =4D4EF4=<O >>?554=<= 6 LC- 

46F>75=5D4F>D5. �<F5D4FGD4: [3, E. 384-398]. 

17. �6F>75=5D4F>DO E 46F>FD4=ED>D<4F>D=>= < ë<>>EF=>= >5D4F=>= E6O7LN. 

&DëEF>G5G=O5 EE5<O, ?D<=F<? <E ?>EFD>5=<O, GE?>6<O 6>75G645=<O, G4EF>F4 75- 

=5D4F<<. �D<=F<? D45>FO, EFDG>FGD=4O EE5<4 < GE?>6<O 6>75G645=<O RC-46F>- 

75=5D4F>D4 74D<>=<G5E><E >>?554=<=. �<F5D4FGD4: [3, E. 398-401, 420-426]. 

18. B>745=EF6<5 5<74D<>=<G5E>>7> E<7=4?4 =4 =5?<=5==>5 E>?D>F<6?5=<5. 

�><5<=4F<>==O5 G4EF>FO. �D<=F<?O ?>?GG5=<O 4<??<FG4=>-<>4G?<D>64==OE 

>>?554=<= < <E 45<>4G?OF<<. �<??<FG4=4O <>4G?OF<O E<5M5=<5<. �>=OF<5 <>- 

4G?OF<>==>= E4D4>F5D<EF<><, GE?>6<5 =5<E>465==>= 4<??<FG4=>= <>4G?OF<<. 

�<F5D4FGD4: [3, E. 323-325, 362-364]. 

19. �D<=F<?O ?>?GG5=<O E<7=4?>6 E G7?>6>= <>4G?OF<5=. �5=5D4F<O 46F>- 

>>?554=<= E G4EF>F=>= <>4G?OF<5= =4 >E=>65 M?5>FD>==>7> G?D46?5=<O D57>=4=E- 

=>= G4EF>F>= >>?554F5?L=>7> >>=FGD4. '4EF>F=4O <>4G?OF<O =4 >E=>65 D47>6>7> 

<>4G?OF>D4. �<F5D4FGD4: [3, E. 434-436]. 

20. BO?DO<?5=<5 6OE>>>G4EF>F=OE >>?554=<= =5?<=5==>= F5?LN E D<?LF- 

D4F<5= ?>EF>O==>7> F>>4. �5F5>F<D>64=<5 4<??<FG4=>-<>4G?<D>64==OE E<7=4?>6. 

%4D4>F5D<EF<>< ?<=5==>7> 4<>4=>7> 45F5>F>D4: >>MDD<F<5=F ?5D544G<, 45F5>F>D- 

=4O E4D4>F5D<EF<>4, 6E>4=>5 E>?D>F<6?5=<5. �<F5D4FGD4: [3, E. 337-349]. 

21. �D5>5D47>64=<5 G4EF>FO. %<=ED>==>5 45F5>F<D>64=<5 4<??<FG4=>-<>4G- 

?<D>64==OE >>?554=<=. �D<=F<?O 45F5>F<D>64=<O E<7=4?>6 E G7?>6>= <>4G?OF<- 

5=. �4=>>>=FGD=>5 G4EF>F=>5 45F5>F<D>64=<5. '4EF>F=>5 45F5>F<D>64=<5 =4 D4E- 

EFD>5==OE >>=FGD4E. �4?4=E=O= D47>6O= 45F5>F>D. �<F5D4FGD4: [3, E. 349-361]. 
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22. �<E>D5F<7<D>64==O5 E<7=4?O < <E <4F5<4F<G5E><5 <>45?<. �><??5>E- 

=O= E?5>FD 4<E>D5F<7<D>64==>7> E<7=4?4, 57> >E>55==>EF<. �D54EF46?5=<5 E<7=4- 

?>6 E >7D4=<G5==O< E?5>FD>< 6 547<E5 �>F5?L=<>>64. &5>D5<4 >FEGëF>6 (F5>D5<4 

'<FF5>5D4 - �>F5?L=<>>64 - ,5==>=4) ?D<<5=<F5?L=> > 4<E>D5F<74F<< 6<45>E<7- 

=4?>6. B>EEF4=>6?5=<5 <EE>4=>7> E<7=4?4. �<F5D4FGD4: [3, E. 87-97, 541-544]. 

23. �D4>F<G5E>>5 ?D<<5=5=<5 F5>D5<O >FEGëF>6 < 6>7=<>4NM<5 ?D< MF>< 

?>7D5L=>EF<. �E>55==>EF< 4<E>D5F<74F<< < 6>EEF4=>6?5=<O ?> >FEGëF4< G7>>?>- 

?>E=OE D44<>E<7=4?>6. %G54<E>D5F<74F<O G7>>?>?>E=OE E<7=4?>6. $47D5Lë==O5 

G4EF>FO 4<E>D5F<74F<<. �644D4FGD=4O 4<E>D5F<74F<O D44<>E<7=4?>6. �<E>D5F<74- 

F<O >><??5>E=>= >7<54NM5= D44<>E<7=4?4. �<F5D4FGD4: [3, E. 152-156]. 

24. �><??5>E=O= E?5>FD ?5D<>4<G5E>>7> 4<E>D5F<7<D>64==>7> E<7=4?4. 

�<E>D5F=O= E<7=4?. %>>F=>L5=<5 <564G E?5>FD4<< 4<E>D5F=>7> < <EE>4=>7> =5- 

?D5DO6=>7> E<7=4?>6. �<E>D5F=>5 ?D5>5D47>64=<5 $GDL5, 57> E6>=EF64 < ?D4>F<- 

G5E>>5 7=4G5=<5. %GM=>EFL 5OEFD>7> ?D5>5D47>64=<O $GDL5. &<?>6O5 4?7>D<F<O 

5OEFD>7> ?D5>5D47>64=<O $GDL5. �<F5D4FGD4: [3, E. 511-515, 548-560]. 

25. %GM=>EFL 4<E>D5F=>= D<?LFD4F<< E<7=4?>6. �<?G?LE=4O < >><??5>E=4O 

G4EF>F=4O E4D4>F5D<EF<>< 4<E>D5F=>7> D<?LFD4. $4EGëF >F>?<>4 4<E>D5F=>7> 

D<?LFD4 =4 6>745=EF6<5 4<E>D5F=>7> E<7=4?4. �<E>D5F=4O E6ëDF>4. �5D5>GDE<6=4O 

< D5>GDE<6=4O D54?<74F<< 4<E>D5F=OE D<?LFD>6. �<F5D4FGD4: [3, E. 502-507]. 

26. �64=F>64=<5 ?> GD>6=N. &<DD>6>= E<7=4?. &<DD>6>= D<?LFD. �5D544- 

F>G=4O DG=>F<O < <<?G?LE=4O E4D4>F5D<EF<>4 F<DD>6>7> D<?LFD4. �E>55==>EF< 

G4EF>F=OE E4D4>F5D<EF<> F<DD>6OE D<?LFD>6. '4EF>F4 �4=>6<EF4. �>E?54>64- 

F5?L=4O, ?4D4??5?L=4O < >4=>=<G5E>4O EFDG>FGD=O5 EE5<O F<DD>6OE D<?LFD>6. 

�<F5D4FGD4: [3, E. 507-511]. 

27. �DO<>5 < >5D4F=>5 z-?D5>5D47>64=<5 < 57> E6>=EF64. Z->5D47 F<DD>6>7> 

E<7=4?4. %<EF5<=4O DG=>F<O F<DD>6>7> D<?LFD4, 5ë E6O7L E <<?G?LE=>= E4D4>F5- 

D<EF<>>= < >><??5>E=O< >>MDD<F<5=F>< ?5D544G<. �D<<5=5=<5 z-?D5>5D47>64- 

=<O 4?O D4EGëF4 >F>?<>4 D<?LFD4 =4 7444==>5 6>745=EF6<5. �=4?<7 GEF>=G<6>EF< 

D5>GDE<6=OE D<?LFD>6. �<F5D4FGD4: [3, E. 515-531]. 

28. %<=F57 D5>GDE<6=OE F<DD>6OE D<?LFD>6 <5F>4>< <=64D<4=F=>= <<- 

?G?LE=>= E4D4>F5D<EF<>< (EF4=44DF=>7> z-?D5>5D47>64=<O). %<=F57 D5>GDE<6=OE 

F<DD>6OE D<?LFD>6 <5F>4>< <=64D<4=F=>= G4EF>F=>= E4D4>F5D<EF<>< (5<?<=5=- 

=>7> z-?D5>5D47>64=<O). �<F5D4FGD4: [3, E. 654-663]. 
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II. &D55>64=<O > GD>6=N ?>47>F>6>< ?>EFG?4NM57> 

�>EFG?4NM<= 4>?65=: 
7=4FL: 

2 646=5=L<5 >?4EEO, E6>=EF64 < E4D4>F5D<EF<>< M?5>FD<G5E><E F5?5=; 
2 >E=>6O D4EGëF4 ?5D5E>4=OE ?D>F5EE>6, G4EF>F=OE E4D4>F5D<EF<>, 74D<>- 

=<G5E><E D56<<>6 D45>FO ?<=5==OE M?5>FD<G5E><E F5?5=; 

2 >E=>6=O5 6<4O E<7=4?>6 6 D44<>F5E=<>5, <5F>4O <E >?<E4=<O, E4D4>F5D<- 
EF<>< < ?>>474F5?<; 

2 E?5>FD4?L=O= (G4EF>F=O=) < 6D5<5==>= <5F>4O 4=4?<74 4=4?>7>6OE < 
F<DD>6OE D44<>F5E=<G5E><E F5?5=; 

2 547>6O5 ?D<=F<?O ?D5>5D47>64=<= E<7=4?>6 6 D44<>F5E=<G5E><E F5?OE. 
G<5FL: 
2 6O?>?=OFL D4EGëF >E=>6=OE ?>>474F5?5= < E4D4>F5D<EF<> ?<=5==OE < =5- 

?<=5==OE, 4=4?>7>6OE < F<DD>6OE D44<>F5E=<G5E><E F5?5=; 
2 >?D545?OFL >E=>6=O5 E4D4>F5D<EF<>< ?D>F5EE>6 6 M?5>FD<G5E><E F5?OE 

?D< EF4=44DF=OE < ?D><76>?L=OE 6E>4=OE 6>745=EF6<OE; 

2 4464FL >4G5EF65==GN D<7<G5E>GN FD4>F>6>G ?>?GG5==O< D57G?LF4F4<. 
6?445FL: 
2 <5F>44<< 4=4?<74 D44<>F5E=<G5E><E F5?5= 6> 6D5<5==>= < G4EF>F=>= >5- 

?4EFOE, 6 EF4F<>=4D=OE < ?5D5E>4=OE D56<<4E, ?D< 74D<>=<G5E><E < =574D<>=<- 
G5E><E 6>745=EF6<OE; 

2 =46O>4<< <7<5D5=<= >E=>6=OE ?4D4<5FD>6 D44<>F5E=<G5E><E E<7=4?>6 < 
F5?5= E <E?>?L7>64=<5< E>6D5<5==>= >>=FD>?L=>-<7<5D<F5?L=>= F5E=<><; 

2 =46O>4<< >?D545?5=<O DG=>F<>=4?L=>= ?D<7>4=>EF< F<?>6OE D44<>F5E- 
=<G5E><E F5?5= 4?O D54?<74F<< 7444==OE ?D5>5D47>64=<= E<7=4?>6. 

 

III. �D<F5D<< >F5=<64=<O D45>F ?>EFG?4NM<E 

BEFG?<F5?L=>5 <E?OF4=<5 6 <47<EFD4FGDG ?D>E>4<F 6 6<45 ?<EL<5==>7> F5E- 

F<D>64=<O. $57G?LF4FO F5EF<D>64=<O >F5=<64NFEO ?> 100-54??L=>= L>4?5. 

�464O= 5<?5F E>45D6<F 15 F5EF>6OE 6>?D>E>6. B>?D>EO 45?OFEO ?> >4F57>- 

D<O< E?>6=>EF<: 10 6>?D>E>6 >4F57>D<< A (>F5=<64NFEO ?> 5 54??>6 >464O=) < 5 

6>?D>E>6 >4F57>D<< B (>F5=<64NFEO ?> 10 54??>6 >464O=). %G<<4D=4O >F5=>4 =5 

?D56OL45F 100 54??>6. 
�D>4>?6<F5?L=>EFL 6EFG?<F5?L=>7> <E?OF4=<O 3 2 4>445<<G5E><E G4E4 (90 

<<=GF). 
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IV. �D<<5DO F5EF>6OE 7444=<= 

�444=<O >4F57>D<< � 

1. �5D6<G=O= ?4D4<5FD G5FOD5E?>?NE=<>4 H11 ?D54EF46?O5F E>5>= .... 

¥ 6OE>4=GN ?D>6>4<<>EFL 6 D56<<5 XX =4 6E>45 

¥ 6E>4=>5 E>?D>F<6?5=<5 6 D56<<5 �� =4 6OE>45 

¥ >>MDD<F<5=F ?5D544G< ?> =4?DO65=<N 6 D56<<5 XX =4 6OE>45 

¥ >>MDD<F<5=F ?5D544G< ?> F>>G 6 D56<<5 �� =4 6OE>45 

 

2. '5D57 <=4G>F<6=>EFL ?D>F5>45F ?>>474==O= =<65 F>> i(t). BD5<5==4O 

4<47D4<<4 =4?DO65=<O u(t) =4 <=4G>F<6=>EF< ?>>474=4 ?>4 =><5D>< & 

¥ 1 ¥ 2 ¥ 3 ¥ 4 
 

 

3. �4 D<EG=>5 E?564 <7>5D465= <=D>D<4F<>==O= E<7=4?. BD5<5==4O 4<4- 

7D4<<4 E>>F65FEF6GNM57> 5<G 4<??<FG4=>-<>4G?<D>64==>7> E<7=4?4 ?>>474=4 =4 

D<EG=>5 ?>4 =><5D>< .... 

¥  1 ¥  2 ¥  3 ¥  4 

1 
 

 

 

 

 

 

i(t) 

 

0 t1 t2 t 

u(t) 

 
0 t1 
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u(t) 

0 t1 
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u(t) 

 
0 t1 
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u(t) 
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�444=<O >4F57>D<< B 

1. BD5<5==4O 4<47D4<<4 E6>5>4=>7> ?D>F5EE4 

6 >>?554F5?L=>< >>=FGD5 <7>5D465=4 =4 D<EG=>5. 

�>5D>F=>EFL >>?554F5?L=>7> >>=FGD4, >>DG7?5==4O 

4> F5?>7> 7=4G5=<O, E>EF46?O5F & 

 

¥  3 ¥  6 ¥  9 ¥  27 

 
2. �D54EF46?5==O= =4 D<EG=>5 E?564 GE<?<F5?L ?>EFD>5= =4 FD4=7<EF>D5, 

?D>E>4=4O 6>?LF4<?5D=4O E4D4>F5D<EF<>4 >>F>D>7> ?D<6545=4 =4 D<EG=>5 E?D464. 

�4 6E>4 GE<?<F5?O ?>44= E<7=4? uBX(t) = 0.2·cos(2Ãç105
çt) B. '7>? >FE5G>< 6OE>4- 

=>7> F>>4 GE<?<F5?O ?D< MF>< E>EF46?O5F & 7D44GE>6. 

¥  60 ¥  90 ¥  120 ¥  150 
 

30.2 30.1 0 0.1 0.2 uBX, B 
 

2 2 z21 
3. %<EF5<=4O DG=>F<O F<DD>6>7> D<?LFD4 <<55F 6<4: 

1 + 0.5çz21 
. �=4G5=<5 

>FEGëF4 <<?G?LE=>= E4D4>F5D<EF<>< F4>>7> F<DD>6>7> D<?LFD4 =4 6F>D>< F4>F5 

(?D< =G<5D4F<< F4>F>6 E =G?O) E>EF46?O5F & 

¥ 32 ¥ 3 ½ ¥ 1 ¥ 2 

 

 

V. $5>><5=4G5<4O ?<F5D4FGD4 

1. �>?>6, B. �. �E=>6O F5>D<< F5?5=: GG55. 4?O 6G7>6 / B. �. �>?>6.4 4-5 

<74., <E?D. 4 �.: BOEL4O L>>?4, 2003. 4 575 E. 

2. �F455>>6, �. �. �E=>6O F5>D<< F5?5=: GG55. / �. �. �F455>>6. 4 3-5 <74., 

EF5D. 4 %�5.: �744F5?LEF6> «�4=L», 2009. 4 432 E. 

3. �>=>D>6E><=, �. %. $44<>F5E=<G5E><5 F5?< < E<7=4?O: GG55. ?>E>5<5 4?O 

6G7>6. 4 5-5 <74., <E?D. < 4>?. 4 �.: �D>D4, 2006. 4 719 E. 
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